$£64E MRTSPAHALTTINLTIaIR

3A25H (KK) WA ERXRARTINLIHST

g iz AE K ouT IN YA N 4 #ob
WA 32 34 66 0 66
2 £y FF 45 50 95 24 71
3 TE R 41 47 88 6.8 7.2
4 Il F— 38 36 74 2.4 71.6
5 g %iE 37 37 74 2.4 71.6
6 It # 41 39 80 8.4 71.6
7 R #HhX 40 40 80 8.4 71.6
8 NGRS 40 45 85 13.2 7.8
9 WE #7 41 37 78 6 72
10 <7 @ NG ERF 39 39 78 6 72
11 INHE =R 42 48 90 18 72
AR BE 51 47 98 25.2 72.8
ik % 40 38 78 4.8 73.2
IR [af 31 41 78 4.8 73.2
WE fhE 41 42 83 9.6 73.4
i Bt 39 44 83 9.6 73.4
TH X 47 42 89 15. 6 73.4
18 iRk HFI 43 46 89 15.6 73.4
19 2 IEA 37 39 76 2.4 73.6
20 B BT 54 46 100 26.4 73.6
21 i FiE 40 41 8 7.2 73.8
22 £ig X 47 40 87 13.2 73.8
23 A FA 42 45 87 13.2 73.8
24 Bk HR 41 46 87 13.2 73.8
25 fE EH 52 47 99 25.2 73.8
26 e 42 44 86 12 4
21 Bk %h 41 45 86 12 74
28 T E 40 39 9 4.8 74.2
29 IR EA 47 44 91 6.8 74.2
30 Bk 46 45 91 16.8 74.2
31 BE K4 46 45 91 6.8 74.2
32 Bl RIS 47 50 97 2.8 74.2
33 SHl 8 46 51 97 2.8 74.2
34 B A 43 41 84 9.6 74.4
35 XE & 43 40 83 8.4 74.6
36 R ik 40 43 83 8.4 74.6
37 NP® KB 49 46 95 20.4 74.6
38 B R 39 43 82 7.2 74.8
39 B B 46 48 94 19.2 74.8
40 T RE 46 48 94 19.2 74.8
41 —= #d 43 38 81 6 75
42 B 45 42 87 12 75
43 Hit =& 44 43 87 12 75
44 pc m KIg #= 42 45 87 12 75
45 M X 41 46 87 12 75
46 BA 17 45 41 86 10.8 5.2
47 <70 ZF HAF 42 44 86 10.8 75.2
48 A% 47 40 46 86 10.8 75.2
49 all E= 46 45 91 15.6 75.4
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WA EEx 45 45 90 14. 4 75.6

e BE 44 46 90 14. 4 75.6

TR BE 4] 49 96 20.4 75.6

£k W= 45 44 89 13.2 75.8

94 2R E— 45 44 89 13.2 75.8
99 AKX AR 44 45 89 13.2 75.8
96 ML BZ 42 47 89 13.2 15.8
o/ [RHE f2F 4 48 89 13.2 75.8
58 R7® fERR BR 44 44 88 12 16
59 BF Fa 43 45 88 12 76
60 ¥H Bk 43 45 88 12 16
61 BN #F 4] 4] 94 18 16
62 A & 46 41 817 10. 8 76. 2
63 IWEA X5 44 43 817 10.8 16.2
64 HAE (4B H) Bl —== 44 43 817 10. 8 76.2
65 A W— 45 48 93 16.8 16.2
66 R &E 43 43 86 9.6 76. 4
67 54 BHE 43 43 86 9.6 76. 4
68 FA AEF 43 43 86 9.6 76. 4
69 Wt ER 50 42 92 15.6 76. 4
10 =& B 48 50 98 21.6 76. 4
A am B15H 43 42 85 8.4 76. 6
12 g 45 46 91 14. 4 76. 6
13 ALt & 51 46 97 20.4 76. 6
14 B fREA 50 47 97 20.4 76. 6
15 fEE IEAl 48 49 97 20.4 76. 6
16 i =E 48 49 97 20.4 76. 6
11 Lk FX 50 46 96 19.2 76.8
18 BRIt B 49 47 96 19.2 76.8
19 T &z 48 48 96 19.2 76.8
80 A0 3 38 45 83 6 17
81 —E EX 4] 48 95 18 17
82 2R 44 44 88 10.8 11.2
83 LB #E 44 44 88 10. 8 11.2
84 RAR BE 39 49 88 10.8 11.2
85 e fE 48 46 94 16.8 11.2
86 E R 46 48 94 16.8 11.2
817 AR HF 39 42 81 3.6 71.4
88 IR = 43 44 87 9.6 11.4
89 Tk B 4 46 817 9.6 71.4
90 e Ih— 40 47 87 9.6 11.4
91 NG IE 4] 46 93 15.6 71.4
92 g 7R 45 48 93 15.6 11.4
93 A XEF 45 48 93 15.6 71.4
94 FE E# 51 48 99 21.6 11.4
95 &R 51 48 99 21.6 71.4
96 #E 48 51 99 21.6 11.4
97 EI#F 183 4] 52 99 21.6 71.4
98 /IMUE EX 47 52 99 21.6 11.4
99 18 45 41 86 8.4 71.6
100 A7 F 43 43 86 8.4 11.6




[ERiva AE K4 out IN b oz IV #ub
101 FEMA 5hF 48 44 92 14. 4 71.6
102 Tk & 45 4] 92 14. 4 11.6
103 BB AR 44 48 92 14. 4 71.6
104 P HESF 44 4 85 1.2 71.8
105 XBHA B 48 43 91 13.2 71.8
106 mE s 46 45 91 13.2 71.8
107 B 22 43 48 91 13.2 71.8
108 NPQ® B+ #%5 43 48 91 13.2 71.8
109 TFE ¥ 60 55 115 37.2 71.8
110 HAd JiEE 51 45 96 18 18

111 T R 46 50 96 18 18

112 D NER 53 49 102 24 18

113 i E= 52 49 101 22.8 18.2
114 RAIRF F 45 43 88 9.6 18.4
115 i FE 48 46 94 15.6 18.4
116 B EX 51 49 100 21.6 18.4
117 JNA fe— 62 49 111 32.4 78.6
118 M ExR 517 54 111 32.4 18.6
119 M 5= 45 47 92 13.2 78.8
120 A f#= 53 51 104 25.2 18.8
121 RO ZER 43 42 85 6 19

122 R —% 40 45 85 6 79

123 PRt BatE 48 43 91 12 19

124 Tk —18 45 46 91 12 79

125 HR =bF 42 49 91 12 19

126 HEF BF 52 51 103 24 79

127 Ay Bx 50 53 103 24 19

128 HE 45 45 90 10. 8 79.2
129 HE &= 46 43 89 9.6 79.4
130 —= EH 54 53 107 2].6 79.4
131 =29 HTH 62 57 119 39.6 79.4
132 MA 1§ 4] 4] 94 14.4 79.6
133 X BEF 44 50 94 14. 4 79.6
134 Fisth &S 46 54 100 20.4 79.6
135 A= 48 45 93 13.2 79.8
136 i) == 3 46 4] 93 13.2 79.8
137 R 2B 51 54 105 25.2 79.8
138 =i EIF 50 55 105 25.2 19.8
139 TR BEZ 48 44 92 12 80
140 A FA 49 49 98 18 80
141 T #&#F 49 54 103 22.8 80. 2
142 A% IE 55 52 107 26.4 80. 6
143 BER B 55 52 107 26. 4 80.6
144 T &R 52 48 100 19.2 80.8
145 W ER 46 52 98 16.8 81.2
146 % Bh 53 57 110 28.8 81.2
147 A BEF 53 50 103 21.6 81.4
148 =8 RA 53 53 106 24 82

149 BB #iE R 45 58 103 19.2 83.8
150 BM ¥ FEsh 59 59 118 28.8 89.2
9999 = ERF 0 0 0 0 0




